StarTechy.om

Hard-to-find made easy®

42U Rack Enclosure
RK4236BKB

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest inforr

this product, please v

Manual Revision: 06/12/2017


http://www.startech.com/RK4236BKB

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

this product injury or
2000 Ib. (507 kg).

uede causar lesions
siguiente peso: 907 kg.

Nunca

g
To avoid this risk,

the enclosure.

Keep liquid away from this enclosure.

Para evitar dicho.

Mantenga cualquier liquidolejos de a caja

10125 kg.

o s 125k
Place insideof the enclosure para o
around connection.

<
thi dy equipment < d ),

i st ) :
equipment Ippe product are on the bottom.

Avertissements Mensagens de aviso
Assemblez ce produit conformément aux nstructions "
a b
kg g.

c @ Fexter " a
.
sans aide.

sq g Para eut 30 expandir

ur éviter ce fétend " du
rack de serveur: Nao colocar a
autre rack. Manter liquidos afastados desta caixa.
Napprochez aucun liquide du rack de serveur. €125 kg.C
por

2 3125k,
endroit pe P ligagio a terra. N s0atem
placer a fintéreur.
< s f terre secio < s

q Jus lourd:
dans
Waarschuwingen Dichiarazioni di avvertenza
Zorg dat u it product volgens de instructies n elkaar zet Assicurars di Assemblare il prodotto secondo l struzlori.

product kan ltsel of
schade. Dit product 507 K. p o
Probeer o optetillen Non
zonder hulp.
rischio di
box esterno.

ke

Houd vioeistof uitde buurt van deze behuizing, Tenere il box estero lontano da lquid,
eqgttot 125 ko, 125k
die gesd de
behuizing wi plaatsen. Collocarealsuo interno:
Gebruik dit tera
" dott

inaflopende d.
onderin worden geinstalleerd.

Instruction manual

peso, u
quelle pit pesanti nella parte inferiore.

StarTechg-0m

Hard-to-find made easy



Varningsmeddelanden

eller egendom. Denna produkt har stad for f8jande vikter: 907 k.

Detta skap é extremt tungt. Forsok aldrig flytta pé skapet eller yfta det utan hialp.

ik fr Forling
inte flr in en Komponent fra skapet fr att undvika isk.
Hall vatskor borta frn skipet.
P pp il 125 ko
Placera inuti.
Nardu il in den
Fortsatt st ning | viktor
och den tyngre utrustningen ar langst ner.
Warnhinweise
Beachten Sie bel der Montage dieses Produkls die Montageanweisungen.
ist
Tragaf ausgelegt: 07 ko
Freien
verwendiet werden.
b
oder anzuheben.
Kippgefahrl D hance, dass
U
diesem Gehase aus,
anderen Gehause.
Halten Sie Flissigkeiten von diesem Gehause fern.
f
b in der Lage it d der Gerate,

die Sie darin platzieren machten, 2u tragen.

Schutzleiteranschiuss.

ER

BT ERRHAEI S TANBOBHUTETOTFEL,
FURTEDONBARBEREBALLESICLTTEL, BARBERES —/ (—
LA s%%&?é?&hf’%%m&ﬁ”),’&hﬂﬁ‘)%t FUSE U TORRE THHT
ARG ENTORBEBELTOES. FATHEALELTFEL,
ARSI I YOI T ATHS EFTIBOLIILELTFEL,
FEEERIARGL SO 22 LIRS

R @J‘JX7EEB§'67‘ S RS R
FHEOESILT T

AREO LA GV TFENMEO T 0- T EBRTRELEVTFEL,
TENE T AT ISEIHEDESICLTFEL,

AW ERA15KYTET BT IO TT, TV O—I v BB EFICRNT 5%
HORBRICHISNSTU7ICRELT TR,

COWRITET ~ABBETT, 7—AEHE LTOEDRE TARSEERLELTIEEL,

AUSICKEERBT BRI BNCBLECREL —FTFOLsYaY ICANTEEL,
o R

Instruction manual

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings

Product diagram

Package contents

Unpack the enclosure cabinet

Lock or unlock the front door

Ground the enclosure cabinet

Remove the side panels

Reattach the side panels

Access your cables

Reverse the front door

Adjust the depth of the mounting rails

Adjust the leveling feet

Install equipment

Technical support

Warranty information

0 0O N o o u b A W W NN

Instruction manual
iii

StarTechy.0m

Hard-to-find made easy



Product diagram

340 mm 340 mm
i (13in) | (13in.)
< -—p
: :
s 1000 mm
. e

Top Bottom
600 mm 1000 mm
1 (24in.) ;7 7 . , (39in.) o
A T — A = A
Mesh area 2050 mm Mesh area |[Mesh area| 1973 mm 1973 mm
ﬂ (81in.) D (78in.) (781in.)
i e S J 1y
v vy vy oY ‘
Left Front Back Right

StarTechy

1 Hard-to-find made easy

Instruction manual



Package contents
« 1xenclosure cabinet

« 50x M6 screws

« 50 x M6 cage nuts

« 50 x washers

« 1xhexkey

« 2 xside-panel keys

« 2xdoor keys

« 1 xinstruction manual

Unpack the enclosure cabinet

Warning! The enclosure cabinet is extremely heavy and you should exercise caution
when you remove it from the pallet. If you lack the necessary expertise or equipment
to remove the enclosure cabinet safely, contact a professional to do it for you.

Caution! At least three people are required to unpack the enclosure cabinet. Do not
attempt to unpack the enclosure cabinet by yourself.

. Carefully move the shipping pallet to a firm and level surface.
. Remove the brackets from the pallet.

. Remove the enclosure cabinet from the pallet and place it onto a firm surface.

A W N =

. Examine the enclosure cabinet for any damage and check for missing parts. If
anything is damaged or missing, contact StarTech.com. To view contact information
for StarTech.com, visit www.StarTech.com/ContactUs.

StarTechy.0m

2 Hard-to-find made easy

Instruction manual


http://www.startech.com/contactus

Lock or unlock the front door

« To lock or unlock the front door of the enclosure cabinet, insert one of the provided
door keys in the lock on the door and turn the key clockwise or counterclockwise.

Ground the enclosure cabinet

Warning! This product must be grounded. Do not use this product without an earth
ground connection.

1. Use an M6 screw to attach a grounding wire to the front or rear grounding point on
the enclosure cabinet.

2. Route the wire under the frame of the enclosure cabinet and connect the wire to
your facility’s earth ground connection. (figure 1)

figure 1

StarTechy.0m

3 Hard-to-find made easy

Instruction manual



Remove the side panels

1. If the side panels are locked, use the provided side-panel keys to unlock the panels.
2. Pull the two tabs on the side panel towards the center of the panel.

3. Lift the side panel free from the enclosure cabinet.

4. Repeat steps 1 to 3 to remove the other side panel.

Reattach the side panels

1. To put the side panels back on the enclosure cabinet, place one of the side panels in
the groove at the bottom of the enclosure.

2. Pull the two tabs on the side panel towards the center of the panel, push the top
part of the side panel into the enclosure cabinet, and release the tabs.

3. Use one of the provided side-panel keys to lock the side panel.

Access your cables

Both the top and bottom panels of the enclosure cabinet have cable access covers that
you can remove to access and manage your cables.

1. To take off a cable access cover, use a Phillips type screwdriver to remove the two
screws on both ends of the cable access cover.

2. Pull the cable access cover away from the enclosure cabinet.

To put the cable access cover back on, place the cover over the cable access opening
and use a Phillips type screwdriver to insert the screws through the cover and into the
enclosure cabinet. Tighten the screws.

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



Reverse the front door

To accommodate different rack configurations, you can reverse the front door of the
enclosure cabinet so that it opens to the left or right. The front door of the enclosure
cabinet is attached with levers that are located at the top and bottom of the front door.

. In the top corner of the inside of the front door, pull the lever down and move the
top corner of the front door away from the enclosure cabinet. (figure 2)

2. In the bottom corner of the inside of the front door, pull the lever up and remove
the front door from the enclosure cabinet.

. Flip the front door so that the levers are located on the opposite side.

4. Position the front door so that the top and bottom levers are aligned with the
washers located in the hinge area of the enclosure cabinet.

. In the top corner of the front door, pull the lever down and release it into the washer
and hole in the enclosure cabinet.

In the bottom corner of the front door, pull the lever up and release it into the
washer and hole in the enclosure cabinet.

w

w

o

figure 2

CLLLL L

S

wsnmBaRm AR

Tl LTI T]

StarTechy.0m

Instruction manual
5 Hard-to-find made easy



Adjust the depth of the mounting rails

The mounting rails come preinstalled in the enclosure cabinet. Both the front and back
sets of mounting rails can be adjusted independently in 3/4 inch (20 mm) increments
to accommodate different sizes of equipment.

Warning! Do not attempt to adjust the mounting rails when equipment is installed in
the enclosure cabinet. Remove the equipment first before you adjust the mounting
rails.

—_

. Each of the mounting rails is connected to the enclosure cabinet with a screw and
cage nut in the upper and lower corners of the mounting rail. Use a Phillips type
screwdriver to remove the screws and cage nuts from the mounting rails.

2. Install the cage nuts at the desired depth.

3. Slide the mounting rail to the depth of the cage nuts and use a Phillips type
screwdriver to install and tighten the screws that you removed in step 1.

Adjust the leveling feet

Warning! Remove any equipment from the enclosure cabinet before you adjust the
leveling feet.

The enclosure cabinet ships assembled with both casters and leveling feet installed.

+ To adjust the leveling feet, use the provided hex key to turn the screws located in
each of the four corners on the inside of the enclosure cabinet.

Caution! Make sure that all four of the leveling feet are set to the same height before
you start to load equipment into the enclosure cabinet.

StarTechy.0m

6 Hard-to-find made easy

Instruction manual



Install equipment

Warning! When you load equipment into the enclosure cabinet, load the heaviest

equipment in the bottom section of the rack first. Continue loading equipment in a
descending order of weight, so that the lighter equipment is installed in the upper

sections of the enclosure cabinet and the heavier items are on the bottom.

The weight capacity of this enclosure is 2000 Ib. (907 kg).

This enclosure cabinet comes with M6 cage nuts and screws but the equipment you're
installing may come with mounting hardware. Consult the documentation that came
with the equipment to determine the best mounting hardware that you should use
and how you should install it.

1. Insert the M6 cage nuts in the vertical rails.
2. Line up the mounting holes on the equipment with the M6 cage nuts.

3. Insert the M6 screws through the mounting holes on the equipment and into the
M6 cage nuts.

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



